estion carries 1 weightage.
- What are the limitations of CPM network ?

Whenisagamesaidtobefair?
List the types of research methods.

N =

DA

o o

(6 x 1 = 6 weightage)

10. A managem faced with the problem of
The chance that market will be good, fair or
the decision as per EMV criterion H

g one of the products for manufacturing.
0.75, 0.15 and 0.10 respectively. Select

(4 x 8 = 12 weightage)

Turn over



13. What are competitiv,
14. What are uses of

15. Calculate average
times. Find critical path :

Activity [ ¢, [ ¢,
24 |1 3
26 | 1| 7|4
8 (4] 167
68 | 1| 5

Estimate which should be the decision as timax, Maximin, Laplace and Hurwitz
criteria. (given a = .6). a
ique which is useful to solve problems.

(3 x 4 = 12 weightage)

ld g a‘ﬂ'V in stockTor a week is Rs. 50. Customers who

B s /x.ﬁ*
18.% IV dealer finds thatﬂzem%w
nr end to go to other dealers and he estimates that for

obtain new TVs immedia

A customer who canpot get imy edwte delivery he losses an average of Rs. 200. For one
e r model of TV the probabilities of a demand of 0, 1, 2, 8, 4 and 5 TVs in a week are

0. 5 0.10, 0.20, 0.30, 0.20 and 0.16 respectively :



(a) How many televisions por wg
lag between ordering and dé|
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